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(350%200%1300)

ERAMHRRE

(5.55m * 18.56m & L THH)
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100m?s U $ &
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S 2A&4

$2.0 * 50 * 50

140m?

100m?* * 1.4 = 140m?

KE>

¢ 16 * 400L

304

3Z/10m* * 100m? = 302

INEY

¢9 * 200L

150K

152%/10m? * 100m? = 1504

R

D13

796. 05kg

BEHmE 5.2m/ 1.3m + 1 = 5K

57 * 18.55m * 4K = 371.0m

18.2m / 1.3m + 1 = 15K

1567 * 5.55m * 47 = 333.0m

{(371.0m + 333.0m) * 0.995kg/m} / (5.55m * 18.55m) * 100m? * 1.17 =

796. 05kg

D16 * 750

3K

EREICTIATOEET 5.
54T *x 1 15457 = T54FF
754 FF / (5.55m * 18.55m) * 100m* = 73&

W7 o h—

D10 * 400

68K

BHOAM AT OERET 5,
Wt o4 RT *x 1 1457 = 104 7R
704 FF / (5.55m * 18.55m) * 100m* = 684

INT—REUF

350 * 200/

12718

R ERESR 18.2n/ 1.3m* G.2n / 1.3m + 1) = 70{&
@S 5.2m / 1.3m * (18.2m / 1.3m + 1) = 60{&
(7018 + 60ME) / (5.55m * 18.55m) * 100m2 = 127{&

BELEZIL
Wedft

b350 * h200

6. 84m°

MR 118.49 / 360 * 7 x 0.10242 - 0.176 = (0.1024 - 0.05) / 2
+0.15 % (0.176 + 0.35) / 2 = 0.0457m’
#E& 5.55m * 1564 + 18.55m * 5K = 176m
REEFAIBRARE 0.0134m/1 4/ GELUE)
0.0134m® * 54 ffr * 154 = 1.005m*
100m*24 U {A%& (0. 0457m? * 176m — 1.005m°) / (5.55m * 18.55m) * 100m* = 6. 84m*

BRAEER

49. 1m?

0.35m * 176m — (0.35m)2 * 54 Ff * 154 = 52. 41m?
100m? - {52.41m? / (5.55m * 18.55m) * 100m?} = 49. 1m?




